University of Jordan EE212 - Electric Clrcults 11 Second
Department of Electrieal Engineering

Sunday, 16/4/2017
second Semester 2016-2017

Exam Time: 15:00 - 16:30 pm

Questions 1 (4 points)

If the source line voltage in the figure below is 208 Vs, determine the source currents I, Iv, I and

the current in the neutral line, Iav. What is the total complex power supplied by the source, and
\ what is the total power losses in the transmission lines
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Questions 2 (4 points)

values. Find:

a)

N\

7

d)

—

The total line current
e

_

Ia.

The phase current
Ias in the A
connected load.

The line voltage at
the load side V.
The total complex

power consumed by

\
For the shown figure below, if Zy= 15-j12 Q, Zy= 54j5, Z= 3 Q. The source voltages are given in RMS \.
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the Y connected load.
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Questions 3 (5 points)

For the circuit shown 7, = 20 Q, Zu=10+j10 Q, 20 la
and Ze= 12 - j15 Q, while the line voltage of the 4 "

source is 173.2 V

rvs. Find the readings of the
/(b Wo wattmeter’s, the load power factor, and the

apparent power supplied to the load.
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- )
Questions 4 (8 points) d
In the show
el thllt :\:t\\ o:k write down the 2 mesh ¢quations that governs the current relations in the
Implest form, Then find Vap, The g given voltages are in RMS,
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Question 5 (5 points) 5
For the circuit shown, find th ue of Zp

that maximize the power transfered to the

load, and what is this maximum power. Find- 165 cos 10% V
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Question 6 (3 points):

For the circuit shown below find the in

= 2

put current I and the power absorbed by the 8 Q resistor.
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c'n' v elrent : .
For the cireuit shown, find the power absorbed by the 5 € load, Find the voltages Van, Vep, and the

source P,
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